Unit 2 Anatomy L4 Appendicular Skeleton Lower Extremity

The lower extremity is comprised of the following bones: ___________________

__________________
___________________
___________________
___________________
__________________

____________________.

The pelvic girdle is made up of the following bones: ____________________ and ____________________.
The pelvis is made up of ___ bones which ____________________ with each other.
The ________, ____________ and _________ articulate on the lateral side of the Pelvis to form the ______________________.

When you are sitting down, you are sitting on your (bony part)  _____________________   ________________________.

The sacrum articulates with the ilium to form the __________________________ joint. An abbreviation for this joint is the _______ joint.

The head of the  ________ articulates with the _______________________ of the pelvis to form the ______ joint.
The large bone of the lower leg is called the ____________.
The small bone of the lower leg is called the ____________.

The ______________ malleolus extends more ____________ than the ______________ malleolus.

The medical term for the knee cap is the ___________________.

The ____________ and the ____________ articulate to form the knee joint.

The medical term for the bones of the posterior part of the foot is _______________. There are ____ individual posterior foot bones.

The medical term for the bones of the foot that are anterior to the tarsals is __________________.  There are ____ anterior foot bones.

The medical term for the toe bones is __________________. 

The articulation between the bones of the foot and the toes is called the _____________________________

joint. An abbreviation for this joint is the _____ joint.

The bones of the foot and fingers are numbered from ___ to ___ beginning on the ________ side and ending on the __________  side.

The individual bone in each toe is called a ____________________.

The toe bone that articulated with the metatarsal is called the _______________   _________________.

The toe bone that is the tip of the toe is called the ____________________   __________________.

The toe bone that is between the proximal and distal phalanx is called the _______________  _____________.
The joint between the proximal phalanx and the middle phalanx is called the ____________

_________________________ joint. An abbreviation for this joint is the _____ joint.

The joint between the middle phalanx and the distal phalanx is called the ____________

_________________________ joint. An abbreviation for this joint is the _____ joint.

The great toe only has a ___________ and a _____________ phalanx.

